
PARTS LIST
Assembly for Hydraulic Power Pack
Installed on Model 285A-BP Serial # 1290 to 1102 (MMYY) Dec. 1990 to Nov. 2002

COPYRIGHT 2007 MORSE MFG. CO., INC. Form PL M642   (Updated 5/2007)  Page 1

MORSE MFG. CO., INC.         •         727 West Manlius Street         •         P.O. Box 518         •         East Syracuse,  NY 13057-0518
Phone: 315-437-8475     •     Fax: 315-437-1029     •     Email: service@MORSEmfgco.com     •     Webpage: www.MORSEmfgco.com

PART # M642-P
HYDRAULIC POWER PACKThe Specialist In Drum Handling Equipment

ITEM QTY. PART # DESCRIPTION

A 1 3240-P PENDANT, 2 BUTTON, BP
1A 1 1189-P CORD, COIL WIRE, 10', 285A-BP
3 2 M07683-P SCREW, 10-32 X 1/4, M5007W
4 1 M03414-P TERMINAL, MALE 1/4" M642
5 1 M03427-P SWITCH, SOLENOID 3 POST M642
5 1 M03335-P SWITCH, SOLENOID 12VDC 4 POST
6 1 M01420-P FITTING, STRAIN RELIEF M642
7 1 M12262-P PUMP ASM, GEAR CODE 72, M642
8 1 M02352-P O-RING, 3-5/8 X 3-7/8 X 1/8
9 1 M00122-P O-RING, 3/8 X 9/16 X 3/32 M642
10 1 M03624-P KIT, VALVE ASM PARTS, M642
11 1 M02159-P SEAL, PUMP ASM, DC
12 1 M03766-P KIT, RELIEF VALVE PARTS, DC
13 1 M08053-P MOTOR, 12V DC, M642
14 1 M02318-P BEARING, BASE, MOTOR, DC
15 1 M07625-P NUT, 5/16-24 HEX, DC
16 1 M07781-P WASHER, 5/16" LOCK, DC
24 1 M01315-P FILTER, SUCTION, MON
25 1 M04297-7-P SUCTION TUBE, M642
27 1 M01479-6-P RETURN TUBE, M642, MON
28 1 M06659-P RESERVOIR, 4-1/2 X 10, M642
30 1 M01143-P PLUG, BREATHER, FILLER MON
31 12 M07703-P SCREW, 10-24 X 3/8 TF
32 1 M01450-10-P TUBE, PRESSURE, M642
33 2 M01339-P TERMINAL, SMALL, M642
34 1 M01338-P TERMINAL, LARGE, M642
57 1 M04560-P BRACKET, 3.25 C TO C, M642
58 2 M07592-P SHCS, M642
D 1 M00514-P VALVE ASM CPT, M642



For replacement parts, please contact
your Morse dealer.
When ordering parts, please specify:

- Part number and description,
- Model number
- Serial number

Find model number and serial number on
metal name plate attached to frame.

PARTS DIAGRAM
Assembly for Hydraulic Power Pack
Installed on Model 285A-BP
Serial # 1290 to 1102 (MMYY) Dec. 1990 to Nov. 2002

COPYRIGHT 2007 MORSE MFG. CO., INC. Form PL M642   (Updated 5/2007)  Page 2

PART # M642-P
HYDRAULIC POWER PACKThe Specialist In Drum Handling Equipment


